O000-000000000000 LSIOOO
An Analog-Digital Hybrid LSI for Hough Transformation
uggd oo,bb gd
Asai Tetsuya and Amemiya Yoshihito
gogood ood
Department of Electrical Engineering, Hokkaido University

1. 00o0d

ooboooboooobooboobooboooogoobooo
oobOobooobOoooOoooooooboooooobooo
obooobOoooobooooboobooboooooog
obooOoobOobOoocboooocoobobooooooo
oooobooOobooobooooboooboobooooog
oobooooooooboooobooooobo-bbobooooboo
LSIogoooooooooogooo

2. 0000LSIODOO0bOOoOoDo

00000000000 (2,y) 00000000 (p,0)
0000 (p=xcosf+ysing) 000000000000
(po,6p) 00 0000000OOOOOOOOOOOOOO
ooooodobooooboboboobooboooboon
000000000000000000000000: 1)
0000000000000 DODOO0OD0OODODooOn
O (P, P, P) 00000 p; (6 =1,2,---,L) 000,
i) pi = p; 000 00000

Jdod0o0ooDoOoooooDooooooo LSIgooo
go0oO0o0odD 100ooLSiIgbooooooboobo
(1,/)0000 p;,; 00000000 p-deviced, 0000
O0D0O0D00ODQO voting circuitD O 00 00 OO O p-device
0000000 2N x2NOOOOOoOooooo (S:;)
0000000000000 (£Epcoswt, +Eysinwt) 00
00oO0oo0ooooooono (Vie,W,;) 000000
Eyidrcoswt, Ey j desinwt (de, dy000000000)
oooobooboobobooobooobooon

Si ;= Eo (z dx coswt + 7 dy sinwt) (1)

0000Eyide, Bpjdy0OD wt00000 2, y00
0¢00000000(1)00000000000000

000000000000000000000000
00000000000000000000000000
0000D0000: §)i0,;;0000000000 X; =
1/di Y iep Sigs ¥y =1/d; Yep Siyj (D, d; 000 d; OO
00000 (0)000000000,:0000 5000
000000)0000i#) X, ;0 MOOODOODOOO

0 (X, Y,)0000000000M=2,X,00000
00000000 —e0 a0000-a<X;<0000
0X;=(6000<X;,<a0000X; = (0,¢)00iii)
X =1/k e Xy Y = 1/ki Y i Yi (k;, KOODO OO
04;00000X,Y,00000)000000000
0000000000 ¢/20000000000000iv)
i)0000000000000000000i) 00000
000000000 ¢/20000000,0000000
000D0iv)00 p000000000 100000000
)0 i) 000000000 MOSOOOOO0O000Oi
000 iv)0000000000000000 AD/DAD

gooobood

. udbboouoooobboga

g2000000000b00booooooobobnoo
200000 (OO0DO),0300000000000OO

0(00000),040 p00000,0500000 p,
9 (=wt) 00000000000 (N =M =40, w =
o2r, ¢c=1 E,=1V)0 00000000000 p00
5.3bit (log,40) 000 0000000000000000
000D00050000000000000000

0000000000000000000000000
p0000000000000000000000000
00000000000000000000000000
000000000000 (voting circuit) 0000000
00000000000000000000000000
00000000000000000000000000
oooooooo

Ej sin (wt) p-device ' voting circuit
/V(\,N

3

-3t 3
H

N
o
E
: ;
N
ffie |-
=

Y

|

<
©
=
©
<
©
~—

-E cos (wt)

1|
-\/vvu-\/\év;—\/vvu AV AN
ET
"HEH
=

Ed
CIE]
§§-'O</
=
iE =T

1 el fpaed
—2S,; @-EO sin (ot) I p (wt)
b icp ™ = = b2 = S corres.
=1 AV
X2 X _é_ Xy X, kidx
Fig. 1 Architecture of the proposed LSI
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Fig 2 Input pattern Fig.3 Correspondence output
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